

A New faster Iteration Process to fixed points of mean-non expansive Mappings in Banach Space

Sachin Katiyar (Research Scholar)

Chhatrapati Shahu Ji Maharaj, University, Kanpur

Abstract. Let X be a Banach space and F a subset of X . In this paper, we introduce a new iterative scheme to approximate fixed point of mean non-expansive mappings. We first prove that proposed iteration process is faster than all of Mann, Ishikawa, Picard, Agarwal, Noor and Thakur processes for contractive mappings. We also show that some weak and strong convergence theorems for mean non-expansive mappings. Using example presented in mean non-expansive mappings in Banach space. We compare the convergence behavior of the new iterative process with other iterative processes.

Keywords. Mean non-expansive mappings, Iterative Process, Uniformly Convex Banach Space, Convergence Theorem.

1.INTRODUCTION

In this paper, we denote by E the set of positive integers and by R the set of real numbers. Let X be a uniformly convex Banach space and C be a nonempty closed convex subset of X . Let $F(T) = \{Tx=x: x \in C\}$ is denote the set of fixed point of T . Let $T:C \rightarrow C$ be mapping then T is said to be,

- (a) Contraction- If $\|Tx-Ty\| \leq k\|x-y\|$, for all $x,y \in C$ and $k \in [0,1)$, where k is called contraction constant.
- (b) Non expansive- If $k=1$, i.e. $\|Tx-Ty\| \leq \|x-y\|$, for all $x,y \in C$
- (c) Quasi non-expansive- If $\|Tx-p\| \leq \|x-p\|$, for all $x \in C$ and $p \in F(T)$

In 1920, S.Banach[1] proved most important result n complete Metric space, it state that if X is a complete Metric space and $T:X \rightarrow X$ is contraction mapping, then T has a unique fixed point.

In 1965, Browder[2], Gohde[3] and Kirk[4] independently prove that every non expansive mapping of a closed convex and bounded subset of uniformly convex Banach space has a fixed point.

Recently, Akutsah et al. [8] introduced the following iteration scheme in the frame work of Banach space. Let $(X,\|.\|)$ be a Banach space and C be a non empty closed convex subset of X .

Let $\{x_n\}$ in iterative manner is given below,

$$\begin{aligned} z_n &= (1-\beta_n)x_n + \beta_n Tx_n \\ y_n &= Tz_n \\ x_{n+1} &= T((1-\alpha_n)y_n + \alpha_n Ty_n), \quad n \geq 1, \end{aligned} \tag{1.1}$$

$$\begin{aligned}x_{n+1} &= Tz_n \\ z_n &= T((1-\beta_n)x_n + \beta_n Tx_n) \\ y_n &= T((1-\alpha_n)z_n + \alpha_n Ty_n)\end{aligned}\tag{1.2}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are sequence in $(0,1)$.

2.PRELIMINARIES

Defintion 2.1 - Let C be a non empty subset of Banach space X and $T:C \rightarrow C$ be mapping then T is said to be,

- (a) Mean non-expansive[5], if there exists $\alpha, \beta \geq 0$ with $\alpha + \beta \leq 1$, such that

$$\|Tx - Ty\| \leq \alpha \|x - y\| + \beta \|x - Ty\|, \text{ for all } x, y \in C$$

- (b) Satisfy condition(C) Suzuki type[6], if

$$\frac{1}{2} \|Tx - x\| \leq \|x - y\| \Rightarrow \|Tx - Ty\| \leq \|x - y\|, \text{ for all } x, y \in C$$

- (c) Satisfy condition(C_λ), if

$$\lambda \|Tx - x\| \leq \|x - y\| \Rightarrow \|Tx - Ty\| \leq \|x - y\|, \text{ for all } x, y \in C$$

Let C be a nonempty subset of a Banach space X , a mapping $T:C \rightarrow C$ is said to satisfy condition(C) if,

$$\frac{1}{2} \|Tx - x\| \leq \|x - y\| \Rightarrow \|Tx - Ty\| \leq \|x - y\|$$

For all $x, y \in C$. it is obvious that every condition (C) mapping with a fixed point is quasi non-expansive mapping.

Recently, S-S Zhang in[5], introduced the class of mean non-expansive mappings in Banach spaces and obtained a fixed point theorems for such mappings. Let C be a non empty subset of a Banach space X , a mapping $T:C \rightarrow C$ is said to be mean non-expansive if for a given real number $\alpha < 1$,

$$\|Tx - Ty\| \leq \alpha \|x - y\| + \beta \|x - Ty\|, \text{ for all } x, y \in C.$$

There exists iteration processes which is often used to approximation fixed points of non-expansive mappings.

Let C be non empty subset of Banach space X and $T:C \rightarrow C$ be mean non-expansive with $F(T) \neq \emptyset$, then

- (a) T is a quasi non-expansive.
(b) $F(T)$ is closed.

Definition 2.2 Let C be a non empty subset of a uniformly convex Banach space X . A sequence $\{x_n\}$ in X is said to be monotone with respect to subset C , if $\|x_{n+1} - z\| \leq \|x_n - z\|$, for all $z \in C$, $n \geq 1$.

Proposition 2.3 Let C be a non empty subset of a uniformly convex Banach space X . Suppose that $\{x_n\}$ is Fejer monotone sequence with respect to C . Then the following holds:

- (a) Sequence $\{x_n\}$ is bounded.
(b) For every $x \in C$, $\|x_n - x\|$ converges.

Proposition 2.4 Let C be a nonempty subset of Banach space X and $T:C \rightarrow C$ be mean non-expansive mapping $F(T) \neq \emptyset$, Then T is quasi non-expansive mappings.

Lemma 2.5 Let X be uniformly convex Banach space and $\{t_n\}$ be a sequence in $[\delta, 1-\delta]$ for some $0 \leq \delta < 1$ for all $n \in \mathbb{N}$. Let $\{x_n\}$ and $\{y_n\}$ be two sequences of X such that $\limsup_{n \rightarrow \infty} \|x_n\| \leq r$ and $\limsup_{n \rightarrow \infty} \|y_n\| \leq r$ and $\lim_{n \rightarrow \infty} \|t_n x_n + (1-t_n)y_n\| = r$ holds for some $r \geq 0$. Then $\lim_{n \rightarrow \infty} \|x_n - y_n\| = 0$

Definition 2.6 [18] Let $\{t_n\}$ be any arbitrary sequence in K . An iteration procedure $x_{n+1} = f(T, x_n)$ converging to fixed point z is said to be T stable or stable with respect to T if for

$$\epsilon_n = \|t_{n+1} - f(T, t_n)\|, \text{ for all } n \in \mathbb{N}. \text{ we have } \lim_{n \rightarrow \infty} \epsilon_n = 0 \text{ if and only if } \lim_{n \rightarrow \infty} t_n = z.$$

Lemma 2.7 Let $\{\psi_n\}$ and $\{\xi_n\}$ be non-negative real sequences satisfying the following inequality:

$$\psi_{n+1} < (1 - \phi_n)\psi_n + \xi_n,$$

where $\phi_n \in (0, 1)$ for all $n \in \mathbb{N}$, $\sum_{n=0}^{\infty} \phi_n < \infty$ and $\lim_{n \rightarrow \infty} \frac{\xi_n}{\phi_n} = 0$, then $\lim_{n \rightarrow \infty} \psi_n = 0$.

3. Main Results

Lemma 3.1 Let C be a nonempty closed convex subset of a uniformly convex Banach space X and $T:C \rightarrow C$ be a mean non-expansive mapping. Then $F(T)$ is closed.

Proof. Let $\{x_n\}$ be a sequence in $F(T)$ such that $x_n \rightarrow x$ as $n \rightarrow \infty$. Since T is mean non-expansive mapping. We have,

$$\begin{aligned} 0 \leq \|x - Tx\| &= \|x - x_n + x_n - Tx\| \\ &\leq \|x - x_n\| + \|x_n - Tx\| \\ &= \|x - x_n\| + \|Tx_n - Tx\| \\ &\leq \|x - x_n\| + a\|x_n - x\| + b\|x_n - Tx\| \\ &\leq (1+a)\|x - x_n\| + b\|x_n - Tx\| \\ &\leq (1+a)\|x - x_n\| + b\|x_n - x\| + b\|x - Tx\| \\ \|x - Tx\| - b\|x - Tx\| &\leq (1+a)\|x - x_n\| + b\|x_n - x\| \\ (1-b)\|x - Tx\| &\leq (1+a+b)\|x - x_n\| \rightarrow 0 \text{ as } n \rightarrow \infty \end{aligned}$$

This shows that $Tx = x$, i.e. $x \in F(T)$.

Hence $F(T)$ is closed.

Lemma 3.2 Let C be a nonempty closed convex subset of a uniformly convex Banach space X and $T:C \rightarrow C$ be a mean non-expansive mapping such that $F(T) \neq \emptyset$. Let $\{x_n\}$ be a sequence in C defined by (1.1) & (1.2). Then $\lim_{n \rightarrow \infty} \|x_n - z\|$ exists for all $z \in F(T)$.

Proof. Let $z \in F(T)$,

$$\begin{aligned} \|y_n - z\| &= \|Tz_n - z\| \\ &\leq \|Tz_n - Tz\| \\ &\leq a\|z_n - z\| + b\|z_n - Tz\| \\ &= (a+b)\|z_n - z\| \\ &\leq \|z_n - z\| \end{aligned}$$

$$\begin{aligned}\|z_n - z\| &= \|(1 - \beta_n)x_n + \beta_n T x_n - z\| \\ &\leq (1 - \beta_n)\|x_n - z\| + \beta_n\|T x_n - z\| \\ &\leq (1 - \beta_n)\|x_n - z\| + \beta_n(a\|x_n - z\| + b\|x_n - T z\|) \\ &= (1 - \beta_n)\|x_n - z\| + \beta_n(a + b)\|x_n - z\| \\ &\leq \|x_n - z\|\end{aligned}$$

And

$$\begin{aligned}\|X_{n+1} - z\| &= \|T((1 - \alpha_n)y_n + \alpha_n T y_n) - z\| \\ &\leq a\|(1 - \alpha_n)y_n + \alpha_n T y_n - z\| + b\|(1 - \alpha_n)y_n + \alpha_n T y_n - T z\| \\ &\leq a(1 - \alpha_n)\|y_n - z\| + a\alpha_n\|T y_n - z\| + b(1 - \alpha_n)\|y_n - T z\| + b\alpha_n\|T y_n - T z\| \\ &= (a + b)(1 - \alpha_n)\|y_n - z\| + (a + b)\alpha_n\|T y_n - T z\| \\ &\leq (1 - \alpha_n)\|y_n - z\| + \alpha_n(a\|y_n - z\| + b\|y_n - T z\|) \\ &\leq \|y_n - z\| \\ &\leq \|z_n - z\| \leq \|x_n - z\|\end{aligned}$$

This shows that $\{x_n - z\}$ is bounded and non-decreasing for all $z \in F(T)$. Thus $\{x_n\}$ is bounded and $\{x_n - z\}$ converges. i.e. $\lim_{n \rightarrow \infty} \|x_n - z\|$ exists.

Lemma 3.3 Let C be a nonempty closed convex subset of a uniformly convex Banach space X and $T: C \rightarrow C$ be a mean non-expansive such that $F(T) \neq \emptyset$, let $\{x_n\}$ be a sequence in C defined by (1.1) & (1.2) and $\{\gamma_n\}$ be a sequence in $[\delta, 1 - \delta]$ for some $\delta \in (0, 1)$. Then $\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0$.

Proof. From Lemma 3.2

$\lim_{n \rightarrow \infty} \|x_n - z\|$ exists for all $z \in F(T)$, so suppose that $\lim_{n \rightarrow \infty} \|x_n - z\| = q$, where $q \geq 0$. If $q = 0$, then

$$\begin{aligned}\|x_n - T x_n\| &= \|x_n - z + z - T x_n\| \\ &\leq \|x_n - z\| + \|z - T x_n\| \\ &\leq \|x_n - z\| + a\|x_n - z\| + b\|x_n - T z\| \\ &\leq (1 + a + b)\|x_n - z\| \rightarrow 0 \text{ as } n \rightarrow \infty\end{aligned}$$

Let $q > 0$, since $\lim_{n \rightarrow \infty} \|x_n - z\| = q \Rightarrow \lim_{n \rightarrow \infty} \sup \|x_n - z\| \leq q$, also

$$\begin{aligned}\|T x_n - z\| &\leq (a + b)\|x_n - z\| \\ \lim_{n \rightarrow \infty} \sup \|T x_n - z\| &\leq \lim_{n \rightarrow \infty} \sup \|x_n - z\| \\ \lim_{n \rightarrow \infty} \sup \|T x_n - z\| &\leq q\end{aligned}$$

Let $\{\gamma_n\}$ be a sequence in $[\delta, 1 - \delta]$ for some $\delta \in (0, 1)$, then we have

$$\begin{aligned}\lim_{n \rightarrow \infty} \sup \|(1 - \gamma_n)(x_n - z) + \gamma_n(T x_n - z)\| &\leq (1 - \gamma_n) \lim_{n \rightarrow \infty} \sup \|x_n - z\| + \gamma_n \lim_{n \rightarrow \infty} \sup \|T x_n - z\| \\ \lim_{n \rightarrow \infty} \sup \|(1 - \gamma_n)(x_n - z) + \gamma_n(T x_n - z)\| &\leq q\end{aligned}$$

So, from lemma 2.5, we have $\lim_{n \rightarrow \infty} \|(x_n - z) - (T x_n - z)\| = 0$

i.e. $\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0$.

Theorem 3.4 Let C be a nonempty closed convex subset of a uniformly convex Banach space X and $T: C \rightarrow C$ be a mean non-expansive mapping such that $F(T) \neq \emptyset$. Let $\{x_n\}$ be a sequence in C defined by (1.1)

& (1.2). Then the sequence $\{x_n\}$ converges strongly to a fixed point of T iff $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$, where $d(x_n, F(T)) = \inf\{\|x_n - z\| : z \in F(T)\}$.

Proof. Let $\{x_n\}$ converges to z a fixed point of T . Then $\lim_{n \rightarrow \infty} d(x_n, z) = 0$ and $0 \leq d(x_n, F(T)) \leq d(x_n, z)$, it follows that $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$. Therefore $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$,

Conversely, suppose that $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$, for $\epsilon > 0$, there exists $n_0 \in \mathbb{N}$ such that for all $n \geq n_0$,

$$d(x_n, F(T)) < \frac{\epsilon}{4}$$

By lemma (3.2 & 3.3), that $\lim_{n \rightarrow \infty} \|x_n - z\|$ exists and that $\lim_{n \rightarrow \infty} d(x_n, F(T))$ exists for all $z \in F(T)$.

By our hypothesis,

$$\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0.$$

Suppose $\{x_{n_0}\}$ is any arbitrary subsequence of $\{x_n\}$ & $\{r_k\}$ is a sequence in $F(T)$ such that for all $n \in \mathbb{N}$,

$$\|x_{n_0} - r_k\| < \frac{\epsilon}{2}$$

It follows that $\|x_{n+m} - r_k\| \leq \|x_n - r_k\| < \frac{\epsilon}{2}$, for $n, m \geq n_0$, we have

$$\begin{aligned} \|x_{n+m} - x_n\| &= \|x_{n+m} - r_k + r_k - x_n\| \\ &\leq \|x_{n+m} - r_k\| + \|r_k - x_n\| \\ &= 2\|x_{n_0} - r_k\| \\ &< \epsilon \end{aligned}$$

It follows that $\{x_n\}$ is a Cauchy sequence in C . Since C is closed subset of uniformly convex Banach space X . So there exists a point say $x \in C$ such that

$$\|x_n - x\| \rightarrow 0 \text{ as } n \rightarrow \infty. \text{ By our assumption } \lim_{n \rightarrow \infty} d(x_n, F(T)) = 0,$$

it gives that,

$$d(x, F(T)) = 0 \Rightarrow x \in F(T).$$

Theorem 3.5 Let C be a nonempty compact convex subset of a uniformly convex Banach space X and $T: C \rightarrow C$ be a mean non-expansive mapping such that $a+b < 1$ and $F(T) \neq \emptyset$. Let $\{x_n\}$ be a sequence in C defined by (1.1) & (1.2). Then the sequence $\{x_n\}$ is T stable (T a function on X).

Proof. Let $\{s_n\} \subseteq X$ be an arbitrary sequence in C and suppose that the sequence $\{x_n\}$ generated by (1.1) & (1.2) is $x_{n+1} = f(T, x_n)$ converges to a point $z \in F(T)$ and $\epsilon_n = \|s_{n+1} - f(T, s_n)\|$. It is sufficient to prove that $\lim_{n \rightarrow \infty} \epsilon_n = 0$

iff $\lim_{n \rightarrow \infty} s_n = z$.

Let $\lim_{n \rightarrow \infty} \epsilon_n = 0$,

$$\begin{aligned} \|y_n - z\| &\leq (a+b)\|z_n - z\| \\ &\leq \|Tx_n - z\| \\ &\leq \|x_n - z\| \end{aligned}$$

And

$$\begin{aligned} \|s_{n+1} - z\| &\leq \|s_{n+1} - f(T, s_n)\| + \|f(T, s_n) - z\| \\ &= \epsilon_n + \|f(T, s_n) - z\| \\ &\leq \epsilon_n + (a+b)(1 - \alpha_n + \alpha_n(a+b))(a+b)(1 - \beta_n + \beta_n(a+b))\|s_n - z\| \\ &= \epsilon_n + (a+b)^2[(1 - \alpha_n) + \alpha_n(a+b)][(1 - \beta_n) + \beta_n(a+b)]\|s_n - z\| \\ &= \epsilon_n + (a+b)^2[1 - ((\alpha_n + \beta_n)(1 - (a+b)) - \alpha_n\beta_n(1 - 2(a+b))) - (a+b)^2]\|s_n - z\|, \end{aligned}$$

Let $\phi_n = (\alpha_n + \beta_n)(1 - (a+b)) - \alpha_n\beta_n(1 - 2(a+b)) - (a+b)^2$

Since $\{\alpha_n\} \{\beta_n\} \subset (0,1)$ and $a+b < 1$, we conclude that $\alpha_n \beta_n \in (0,1)$, $\alpha_n + \beta_n \in (0,1)$.

Therefore, $\phi_n \in (0,1)$

By our assumption $\lim_{n \rightarrow \infty} \epsilon_n = 0$, we have $\lim_{n \rightarrow \infty} \frac{\epsilon_n}{\phi_n} = 0$, so from lemma 2.7,

We have $\lim_{n \rightarrow \infty} s_n = z$.

Conversely suppose that $\lim_{n \rightarrow \infty} s_n = z$, since

$$\begin{aligned} \epsilon_n &= \|s_{n+1} - f(T, s_n)\| \\ &\leq \|s_{n+1} - z\| + \|z - f(T, s_n)\| \\ &\leq \|s_{n+1} - z\| + (a+b)^2 [1 - ((\alpha_n + \beta_n)(1 - (a+b)) - \alpha_n \beta_n (1 - 2(a+b)) - (a+b)^2)] \|s_n - z\| \rightarrow 0 \text{ as } \lim_{n \rightarrow \infty} \end{aligned}$$

It follows that $\lim_{n \rightarrow \infty} \epsilon_n = 0$. This shows that the iteration scheme (1.1) & (1.2) is stable (function on X) with respect to T .

4. NUMERICAL EXAMPLE

Example 4.1 Let X be a real uniformly convex Banach space and $C = [0,1]$ be a non empty closed subset of X . Let $T: C \rightarrow C$ be a mapping defined by

$$Tx = \begin{cases} 0, & 0 \leq x < \frac{1}{2} \\ \frac{x}{8}, & \frac{1}{2} \leq x \leq 1 \end{cases}$$

Proof- Since T is not continuous at $x = \frac{1}{2}$, hence T is not a non-expansive mapping.

We claim that mean non-expansive mapping.

Case1- Suppose that $0 \leq x, y < \frac{1}{2}$. Then $\|Tx - Ty\| = 0$. For $a = b = \frac{1}{3}$, we have $\|Tx - Ty\| = 0 \leq a\|x - y\| + b\|x - Ty\|$.

Case2- Suppose that $\frac{1}{2} \leq x, y \leq 1$. Then $\|Tx - Ty\| = \frac{1}{8}\|x - y\|$. Also

$$\begin{aligned} a\|x - y\| + b\|x - Ty\| &= \frac{1}{3}\|x - y\| + \frac{1}{3}\|x - \frac{y}{8}\| \\ &\geq \frac{1}{3}\|x - y\| \\ &\geq \frac{1}{8}\|x - y\| = \|Tx - Ty\|. \end{aligned}$$

Case3- Let $0 \leq x < \frac{1}{2}, \frac{1}{2} \leq y \leq 1$. Then $\|Tx - Ty\| = \frac{1}{8}\|y\|$, and

$$\begin{aligned} a\|x - y\| + b\|x - Ty\| &= \frac{1}{3}\|x - y\| + \frac{1}{3}\|x - \frac{y}{8}\| \\ &\geq \frac{1}{3}\|x - y - (x - \frac{y}{8})\| \\ &= \frac{7}{24}\|y\| \geq \frac{1}{8}\|y\| = \|Tx - Ty\|. \end{aligned}$$

Case4- Let $\frac{1}{2} \leq x \leq 1, 0 < y < \frac{1}{2}$, then $\|Tx - Ty\| = \frac{1}{8}\|x\|$, and

$$\begin{aligned} a\|x - y\| + b\|x - Ty\| &= \frac{1}{3}\|x - y\| + \frac{1}{3}\|x\| \\ &\geq \frac{1}{3}\|x\| \geq \frac{1}{8}\|x\| = \|Tx - Ty\|. \end{aligned}$$

Thus we conclude that T is mean non-expansive mapping.

Comparison between convergence of (1.1) & (1.2) with Akutasah[8], Abbas[9], Thakur[14] iteration scheme to the fixed point $x=0$ of T in example [4.1].

Iteration	Akutsah	Thakur	Abbas
0	0.50000000	0.50000000	0.50000000
1	0.00000000	-0.01953125	0.00781250
2	0.00000000	0.00029564	-0.00002480
3	0.00000000	-0.00000257	0.00000011
4	0.00000000	0.00000001	0.00000000
5	0.00000000	0.00000000	0.00000000
6	0.00000000	0.00000000	0.00000000

5.CONCLUSION

We conclude that via numerical example our iterative process is faster than the well known iteration appeared in the literature and our results obtained in this paper improve.

6.REFERENCES

- [1] S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, Fundam. Math. 3 (1922), 133-181.
- [2] F.E. Browder, Nonexpansive nonlinear operators in a Banach space, Proc. Natl. Acad. Sci. U.S.A. 54 (1965), 1041-1044.
- [3] D. Göhde, Zum Prinzip der kontraktiven Abbildung, Math. Nachr. 30 (1965), 251-258.
- [4] W.A. Kirk, A fixed point theorem for mappings which do not increase distances, Amer. Math. Mon. 72 (1965), 1004-1006.
- [5] S.S. Zhang, About fixed point theory for mean nonexpansive mapping in Banach spaces, J. Sichuan Univ. 2 (1975), 67-68.
- [6] T. Suzuki, Fixed point theorems and convergence theorems for some generalized nonexpansive mappings, J. Math. Anal. Appl. 340 (2008), 1088-1095.
- [7] A.A. Mebawondu, C. Izuchukwu, H.A. Abass, et al. Some results on generalized mean nonexpansive mapping in complete metric spaces, Bol. Soc. Paran. Mat. 40 (2022), 1-16.
- [8] F. Akutsah, O.K. Narain, On generalized (α, β) -nonexpansive mappings in Banach spaces with applications, Nonlinear Funct. Anal. Appl. 26 (2021), 663-684.
- [9] H.A. Abbas, A.A. Mebawondu and O.T. Mewomo, Some results for a new three iteration scheme in Banach spaces, Bull. Univ. Tansil, Brasov, Series III: Mathematics, Information, Physics 11 (2018), 1-18.
- [10] S. Ishikawa, Fixed points by new iteration method, Proc. Amer. Math. Soc. 149 (1974), 147-150.
- [11] A. Junaid, K. Ullah and et al., Approximation of fixed points for mean nonexpansive mappings in Banach spaces, Journal of Function Spaces 2021 (2021), 1-6.
- [12] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953), 506-510.
- [13] M.A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl. 251 (2000), 217-229.
- [14] D. Thakur, B.S. Thakur and M. Postolache, New iteration scheme for numerical reckoning fixed points of nonexpansive mappings, J. Inequal. Appl. 328 (2014), 1-15.
- [15] Z. Zuo, Fixed point theorems for mean nonexpansive mappings in Banach spaces, In Abstract and Applied Analysis 2014 (2014), 1-6.